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3.2 M max= 0. 069 8x 0.05% 350°= 427.53N - mm
3.2.1 (6.0mx 3.0m) W = bh®/6= 1x 6°/6= 6.0mm?
(1) . Ghax = MmafV = 71.25M Pa <
35an, , 215M Pa,
h> 2.5m :Bo= Eh®/12(1- )= 2.1x 10°x 6°/
50 kPa, 1mm , = 12/(1- 0.3%)= 41.5x 10°N - mm
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350°/41.5x% 10°= 0.47 mm < L /500= 350/500=
0. 7mm,

(2)

35am, g= 0.05N /mm?x
350 mm= 17.5N /mm [10 , w
= 39.4an’, = 198.3an*
M max= 6 562 500N - mm
. Ohax = MmafV = 166.6 M Pa<
215M Pa,

f = 0.521x ¢ */100E| = 0.521%
17.5x 1 000°/100x 2.1x 10°x 198.3x 10*=
0.2mm< L /500= 1 000/500= 2mm, ;

= ga'/8E 1= 17.5x 500"/(8x 2.1x
10°x 198.3x 10*) = 0.33mm< a/500= 500,/500= 1
mm,

(3)

2[16 , W =
108.3x 2= 216.6 an®, | = 866.2x 2=
1732.4an*

g= 0.05 N/mm?x 2 000 mm =
100N /mm
K= 0.100

M mac= 0.100% ¢ *= 0.100x 100x 1 500°x
10 °= 22.5kN- m
D Ohax = MmafN = 104 M Pa <
215M Pa,
“fma= 0.677% . */100E1= 0.677x
100x 1 500°/(100x 2.1x 10°x 1 732.4x 10%) =
0.9mm< L /500= 1 500/500= 3 mm,

f=0.47+ 0.33= 0.80mm<

3mm;
f=0.47+ 0.9= 1.37 mm<
3mm
(4) 3 ,
g= 750M Pa 6.0m, 3.0m,
8 1

k= f/A = 229.2 M Pa< 0.9x 750=
675M Pa,

3.2.2 3.0mx 2.2m
(1) ,
(2)
2116 , W = 140.9
x 2= 281.8 an®, = 1127x 2= 2 254 an*
q= 0.05N /mm?x 1 000mm
= 50N /mm
M ma= g /8= 50x 2 200°/8x 10 °
=30.25kN- m
© Ohax = MmafV = 107 M Pa <
215M Pa,
: fmac= 50l */384E 1= 5x 50x 2 200"/
(384x 2.1x 10°x 2 254x 10%)= 3.22mm< L /500
2 200/500= 4.4 mm,
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